BC- 07

Corporate Accounting

IEueRCECIC T

Very short Answer type Questions arfa afera 3wreaes gy

1. Define Accounting.
NICIER IR RIS
2. What is meant by Concept ?
ST & AT ST 2 2
3. What is meant by full disclosure.
o STeRe ety & T AT € 2
4. Explain briefly four important conventions.

HaIT T = HEU! TS T qU hiTerl|
5. What do you mean by Book-Keeping ?
TE-WTAT & ST T FHEd & 2
6. State the difference between Book-Keeping and Accounting.
&I T i@ieh H 3= S5y
7. What is the cost concept ?
AT Fes-eft ST RIT 2 2
8. What do you mean by Accounting Equation ?
TIGTeh THIHTT & 31T RIT GHed © 2
9. What is credit Transaction ?
YN GG T 8
10. Accounting is an Art. How ?
G Teh hedT & Rl 2
11.  What is the rule of Personal Account.

SR @ o fam e 2

12.  Give the format of Journal.
ST ST WThT AT 2

13.  What is Accounting Standards Board ?
AT T U FAT 8 2

14. Give the functions of Accounting Standards Board.
AGT HTH AUSA o 1 od1U)
15. Give Name of AS 2 and AS 3.




16.

17.

18.

19.

20.

21.

22.

23.

24.

T {Te 2 TAT 3 3 AT feAfad 2

State any five names of Indian Accounting Standards.
IR T JTeh o feheal gl o1 A faiRag)
State the meaning of Authorized Share Capital.
AT SFT ST o AT TS|

What is the meaning of Preference Share ?
ST 3797 § T 3T © 2

What is the share certificate ?

337 rTor O foRd hed € 2

Narrate the meaning of over-subscription.
SY-ANEH & T Fargd|

State the meaning of Reserve Capital.

ifere ol 7 a1t ST

Pass the Journal entry for issue of shares at discount at the time of re-issue.

YAITHA o 69 9F ofg o dF-Y | S Tl S
What do you mean by 'Forfeiture of shares' ?

ST o BLOT © 3719 T T & 2

A company forfeited 1000 equity shares of 10 each on which 8 per share had been
called and 5 per share was received in cash by the company. What journal entry will be
made for forfeiture in the books of the company ?

T T 4 10 3Tt 1,000 Sforardt 3731 geor ot ford i ax 8 wifer st | i <qent o7 e
FHEOT T 5 W ST ITH GAT| T i Teohi H SX07 ohl 1T STt WaIf® grfi?

Can partly paid up preference shares be redeemed ? If not how can they be redeemed ?
AT ST o AT A0 o1 2e foRam ST TehalT & 2 ATS A, AT ST WM &t qovig
&7

Give provisions of Sec. 80 of Companies Act regarding redemption of preference
shares.

SR SR o Mo Frareell Srat SRR T 9T 80 o JTeTe S|

Give four examples of divisible profits.

[EEISERIE G e EEH S KIS 1

State the use of Capital Redemption Reserve Account.

it STTe Her W 3 ST STl

What do you understand by debenture ?

YOTOS! © ST T THEd @ 2

State any two points of difference between share and debenture ?
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

YT T )UT-U T 1 T AL a3

What do you understand by issue of debentures as collateral security ?

YOTTET okt Eeleh YOTTer o &9 8 o & 3ng =R wwera € 2

Write the journal entry on issue of 10 Debentures of 100 at par but redeemable at 20%

premium.

100 STt 10 )Or-ut skt fefer wwwgear o foparm T fofent Sive 20% e o foram smim)
YOT-TAT o FTHeT O 3Rt ST STt St St el

Give Journal entry for creation of Sinking Fund for the Redemption of Debentures.

)T o RTTe ] TR e 3 fmior o SHa wfafe i)

A Company issued 20,000 12% debentures at a discount of 5% which are redeemable

at 5% premium. What Journal entry will be passed at the time of issue of debentures ?

Teh HFHT GRT 20,000 3 12% )OT9 5% s W {rifera forr St € fomepr siemd 129 Hiftem
T BT R1 YOTa FTH o am s s Tfafsat S st 2

Give Journal entry for purchase of own debentures by a company for the investment

purpose.
TSt v o foe foreft et g T o )ordsT ot ohar Rt Erelt St gfafs difs)
On 31st March, 2012 Alpha Ltd. purchased 400 12% own debentures @ 96 for

immediate cancellation. Interest is payable on 31st December. Give an accounting entry

for this transaction.
31 9T, 2012 1 Gewht foafiee 3 qued Feed st o ford Tt 36 €1 100 a1t 400 12% )ora=it
T 96 I 3R fora| saTST 31 foarst ol 39 B 36 SHaeR hl i@ gfafy difsm

What remains, when the value of net assets is deducted from the value of purchase

consideration ?
SF-Shet o H | 31 SraftEt T e ST TS 9 ST 8, 39 1 e © 2
Name the methods to ascertain the purchase consideration.

FI-fa%d J1d A I fafer o am s

The assets purchased from a continuing business by a company were valued at 5,40,000

and its liabilities were taken at 1,50,000. The amount of purchase consideration was
determined at 6,00,000. What will be the amount of goodwill ?

Teh ST G <] S8R 8 563 shi TRIT SFA eIl sl 9o 5,40,000 T AR 1,50,000 6
fordr m srr-wifet <t TfT 6,00,000 Frerffea i 7E) e i afir o A 2

In which account and why the loss prior to incorporation is debited ?

T | Y& 31 BT+ o fh® W1 H Sfore fora Siar @ i i 2

What do you understand by underwriting agreement ?

AT ST & 7T AT G & 2
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43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

What do you understand by firm underwriting ?

Hga AN & T A1 THA & ?

What is maximum rate of underwriting commission on shares and Debentures as per
Companies Act ?

FFIHT SARITRIT o STTHR ST T YO o FRTAA 0 AT I shi SR ot T 8
?

What do you understand by marked applications for shares ?

fafred st v & 1T T wwer § 2

Where does the discount on issue and commission on issue of shares/debentures appear
in Balance Sheet ?

ST )OT9AT o i OX 3 =g o FHITH ot fa § el e St g 2

Under which heading does the unclaimed dividend appear in balance sheet ?

A T AT SRy R o g # TR e o feemdt S € 2

Where does advance payment of tax appear in Balance Sheet ?

BT 3T AR AP forg # et fewma Siar g 2

What is the maximum limit of managerial remuneration under Section 198 of the
Companies Act, 1956 ?

FEOT AT 1956 Y €T 198 o STl Fewerehiar urfisrfires st stfersha €im @ 2 2
What is meant by divisible profits ?

[EEISERIREICE k-

What profits are available for issue of bonus shares ?

Y 39T T TAITHT T o fTT -9 & AT 3UeTe9 &I & 2

Is it necessary to write off capital losses before the distribution of dividend under the
Companies Act, 1956 ?

FEHT AT, 1956 % ST FT IS SEALIH © foh AT sie ¥ q& USITd gTiai i
sTafaiRad feram ST 2

Legally in how much time the payment of dividend is necessary after declaration of
dividend ?

TATHIRT 26T SO o fohe farT o 3T7at ST AATHITRT 3BT YT AT ST o7

What do you mean by Internal Reconstruction ?

AT AT & R AR R 2

Give journal entry for conversion of equity shares into stock.

SiorIdT AT bl Teieh | dIgctd ohl S e 2y

When is internal reconstruction desirable ? Give any two situations.

TR TAETT el AS-T & 2 S a1 aifefoat s
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57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

After writing off various losses, where is the balance of capital reduction account
transferred ?

farfsre= gt =t stafcifiad s o sia YSft T @ o 2T sl el TR HLd & ?

What is meant by Absorption of Companies ?

T o HiTeT | T ST ? 2

What is meant by Purchase consideration ?

T -TfTheT & T ST & 2

Which Accounting Standard has been issued for Amalgamation of Companies ?
FHEITIT ok TR o TIT I-4T T A it foram w2 2

What are the types of Amalgamation as per AS-14 ?

G qHH-14 & TTER TehIohTUT fohd YR hT BIAT & 2

What is super profit ?

ST T R 2

What is average capital employed ?

sitere Fafeifor doft a2 2

The value of assets of a business was Rs. 5,40,000 and its liabilities were Rs. 1,50,000.
The purchase consideration of business was Rs. 6,00,000. Calculate the value of

goodwill.

Teh S8 3! Gl a6 qed 5,40,000 & AT 3 36 R 1,50,000 &, 2| A€ 0
4 Tt 6,00,000 . 7| TATIA 3T Hed H1d i)

What is the formula for calculating present value of Re. 1 under annuity method is the
valuation of Goodwill ?

AT o Yeaish H aTftier i foifer o STl Ueh &99 o1 I Jod 91 i o1 93 18 2
What would be the formula for calculating value of equity share by yield method ?
frohet FearieR farfer 3 STTHT |TT=T 377 T Joo T4 i 1 97 1 8 2

What would be the effect on intrinsic value of share if bonus shares are provided by a

company in the ratioof 1 : 1 ?

afe SFT 1 : 1 o SIATA H S S SR AT & T SEehT A oh STk Hod T a1 T9Td
BT 2

Pre bonus intrinsic value per share was Rs. 14. The company provided bonus shares in
the ratio of 1 : 5. What would be post bonus intrinsic value ?

s ST e & o i 37T STl qed 14 %, 81 R 1 2 S5 o SIUTd § SE S S
AT 2 T8 A o 18 37T 7 ST Jod 41 Tl

The capital of Deepti Ltd. is Rs. 55,00,000 divided into 5,50,000 equity shares of Rs. 10
each. On 31st March, 2011 its Reserve were Rs. 80,00,000. Out of this reserve,



69.

70.

71.

72.

company issued two bonus shares for every five equity shares held. Find out the value
of shares after the issue of bonus shares.

it feftiee st dsft 55,00,000 . =1 21 S 10 %, ATt 5,50,000 S0 H forwrfora 21 31 A,
2011 3T 38k €= 80,00,000 &. o 9| 0 T=F H ¥ 0T Tk 5 9T 320 o ol 2 T4
T et 21 e 3FR1T o A o T ST T qedt 91 shiforg)

Give the types of voluntary winding up.

Ufeeh FHTIH o TR SdTsy

Name any five assets which are included in schedule 'A' while preparing statement of
affiairs.

T 5 | eI o AT SIqrse St fefr foreror s v g=ht ‘@ | witnford ot S 2l

Who are included in list A of contributories as a result of winding up of a Company ?
T oh FHTIA o THY GaTdratl ol el @ | forent wfraferd fomam StTam & 2

Calculate the remuneration of a liquidator from the following data :

frafafaa stieret @ games w1 wifeerfies Jma fifs

Rs.
Amount available for unsecured creditors 50,000
Unsecured creditors 46,000

Liquidators Remuneration is 10% of payments to unsecured creditors.

Short Answer type Questions TTI3TIcHED TH

1.

Which convention is used for valuation of assets ?
HEATeRIT % Yoo H H-E IO T ST foharm STra @ 2
Explain the nature and scope of Accounting.

@R i Wifd Td &5 1 Ju hIfSTY)

Is accounting a measurement discipline ? Explain.

T AT Ueh WO 37T & 2 TS|

Describe Accounting Principles.

TETHR o T8l T 9ui shifsTg)

Write short notes on the following :

frfTRad w e feoafrt fofies

(1) Convention of Full disclosure ;‘3Ic111Q TeheToRTUT sl TG,
(i)  Convention of Consistency ;Hh&IT hl TFIG,
Explain the process and systems of accounting.

SRR SfshaT Te oot st aHETs|

Define Accounting Principles and write their significance.




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

AR fa(: 1=t sht TieTST T ae 39 Te o fafay
Distinguish accounting principles and conventions with examples.
AR (T Tt TSy § SeTetT Efgd ST Sdisy)
Explain with illustrations the entity concept of accounting.
TR T TEATT ST ShT I&TET Hfee Fui HITST)
Write the importance of consistency convention and disclosure convention in
accounting.
TG § HITAT T T TERI0T Sl TEFORT 2T Haedl o]
What is Realisation concept ? Explane.
A ST T R T
What is Accrual concept ? Give Example.
JTSI ST T 2] ISTEX0T |l qHemsd|
Give salient features of A.S.-2.
TG -2 i S foRiead S
Explain the term 'Cash and Cash Equivalents' in references to Accounting Standard-3.
TG He-3 o 6-ad H VS U UHS qd sh1” Tal 1 qU shiTeIg]
Give salient features of A.S.-4.

T HTeh-4 6 9@ fesyard i)

Give salient features of A.S.-5.

I /-5 26 9@ feyard i)

What do you mean by issuing of securities at premium ?
sfcrgfort o siferem ox fefae & s e angd @ 2

Mention any two purpose for which the amount of securities premium account can be

used.

siferfer sfiferer T <t iR 3 ST e i 31 e sarsd|

Ram Ltd. invited applications for the issue of 4,00,000 shares of 10 each payable 2 on
application and 8 on allotment. Applications were received for 5,00,000 shares. Pro-rate
allotment was made. Prakash was allotted 2,000 shares. He could not pay amount due
on allotment. Find out the amount received on allotment.

T A 10 ATt 4 A 320 6 HIHA 8] STTEE Wil ST 36 TR 9 § : FEEd W2 9T
HTA T 8 | UTel TG AT 6 37 o] ATeIe ITH TC qAT T 3hl AT AT foharm
SIS St 2,000 TR 3T 3ATefe foRarm o, STt TR o ST i & o7emef @1 3Tmded |
EIERUNEIGEIS I




20.

21.

22.

23.

24.

25.

26.

When all the forfeited shares are re-issued there is sometimes found a balance in
forfeited shares account. In which account is it transferred ? Also give the Journal entry

for transfer.

T ol T EHEd SFRT ol GATAA fohal ST O 391 8207 T # ST 20 sf=Ia & 3§ fohd @
T TEATARA TRAT SO ? TATTR0T sl St Srars o i)

What may be the maximum amount of discount on re-issue of forgfeited shares ?
T oA T ST 6 T R 3 AR TR fve) B e 2 2

A company had issued 5,000 equity shares of 100 each on which 75 per share was
called. A person holding 200 shares had paid only 40 per share.

Give the journal entry for recording the transaction relating to forfeiture of his shares.

T AT 100 3Tt 5,000 ot sfr feifird fordl g o e o 75 wid Sist w1 S e
ofT| e 5ATeh  TSTHeh 9T& 200 3727 91, 3 2T I haret 40 Sfet S0 61 ST ot &, 3wk
SN o THT T Gra-efl ST I S gfafs A

What is Reserve Capital ?

e it o T AR 2

Renu was allotted 200 shares of 100 each at 95. The amount were payable as to 25 on

application, 30 on allotment and the balance on first call. Renu could not pay the
amount due of first call and her shares were forfeited. Subsequently, these shares were
re-issued at 50 per share as fully paid up. Pass journal entries regarding forfeiture and

re-issue.

T 100 STet 200 S0 AT 2 95 Th 30 o6 fewme & foram mm 25 WA o 0T, 30 sfe
T 3T I TH AT 9L < off| T T AT T TR AT A T B Hehl I Ieeh A7 o
L T TN Teaed $ S SRl S0 Wi A T S A YU Yed ®9 Y YAHH e w4
FLOT T YH(THA Ewa-elt St it €ifsg)

The redeemable preference shares of 5,00,000 were redeemed out of general reserve.

Give journal entry for creating capital redemption reserve account.

eI SR ST T T 5,00,000 3 WHT o | © foram ) it mes €=l @id
o fmtor st SHer gfafs i)

B. Ltd. issued 2,000 equity shares of 100 each at 120 to redeem 20,000 10%
preference shares of 10 each on which 8 has been called up. Pass necessary Journal

entries for redemption.

o fafee g/ 100 9t 2,000 ST 3T 1 120 fa 3w & w9 i fomm mn
qifsr I URTH & 10 91T 20,000 10% TR 790 T 09 fSRAT ST Goh| 37 3730 W 8
i 3797 Jed 21 YA o GFey 1 ST Iiavat s



27.

28.

29.

30.

31.

32.

33.

Give necessary Journal entries for redemption of preference shares at premium with
imaginary figures.

TR 3217 o1 STHRW O 2MTe o GFare | Shied (e HHeRT oh STIR I ST TITSaT difsril
A company decided to redeems its 5,00,000 9% preference shares at a premium of
10% . 20,000 equity shares at 10 each are issued for cash at a premium of 5% for the
purpose of redemption, the balance at the credit of its P & L. a/c being 12,30,000. Pass

necessary journal entries.

T FFT A 5 AT T 6 9% AR ST 1 10% SR o wed et &1 femr fomm
oIT| 3 ST o6 T 8 FHFOT A 10 J&& aTet 20,000 Fieraret 7T 5% iR o i for
TATH-ETH @ 3T I 12,30,000 2T STERIF ST Tt AR

Pass journal entry for issue of 10 Debentures of 100 each at par but redeemable at 20%

premium.

100 AT 10 )Tt o | Hed O i foheq 20% St ox wmes foer st sht fefer =
T S fafe €

M. Ltd. acquired 60,00,000 of assets and 2,40,000 of liabilities and allotted 14%
debentures at a discount of 4% for it. Pass necessary journal entries in the books of
Company.

. fafiee 3 60,00,000 T Trfl T©T 2,40,000 o ITRICET 1 373 FoRaT e for@l 100
AT 14% YOT-W3IT T 4% STg WX e foram mam| sheoeft <ht et & 3ha oI )OT-9 foefe
et S wfafsa €

1,000 14% debentures of 1,000 each offered at 10% discount. Whole amount is
payable with application. These are fully subscribed and allotted to applicants. Pass

necessary journal entry in the books of Company.

1,000 & o 1,000 14% )OT-9511 o1 715 10% e 0 foham fSrerehl @rqut TiRT SATee o 9
21 1,000 )OT-TT 3 3 ¥q TG STH gT a0 @t SATGeh! 1 o101 Taifed o fadt shvoet
1 gEaeht 7 e TfafdEt A

A company has issued debentures of the nominal value of 5,00,000 at 10% discount.
The redemption of these debentures was to be made by annual drawing of 1,00,000.

Give the amount of discount to be written off in each of the first two years.

Teh FHET 9 5,00,000 3 )OI 10% g 9 Fifera 3Tmeeon grr snee fomam mam 21 gem <
ELICEFEIRC IR REIS IEEISIRUNERIES]

The following balances appeared in the books of a Company as on 1st January, 2013 :
1 S, 2013 3T Teh SHFIHT T Tedehl § TR 29 o ;




34.

35.

36.

37.

38.

39.

40.

41.

Sinking Fund for Redemption of Debentures 50,000; Sinking Fund Investments
44,325; realised 45,000. How would you deal with profit on sale of Sinking Fund

Investments in Company's accounts ? Give Journal Entry.

ST )OS o TIEH 3 B P | e wug T et s fea #iie 45,000 a9 fhy)
T o @rar H o % = o forshar ot 819 aTet ATy o Tver-e | T ol fohel STt
? S wfafe difr)

A company purchased 100 12% debentures of 500 each at 490 cum-interest on 1-3-
2013 for immediate cancellation. Interest on debentures is payable on 31st December
every year. Journalise.

T T A 500 T 100 12% )OT9 490 ;TS &l 1-3-2013 T T & o 8
3 fo1 )oraaT ot sarTeT 31 feaws ont 2 R) s wfafy sy

On 1st July, 2012 a company purchased its own 500 6% Debentures of 100 each in the

open market for 48,400 and incurred an expenditure of 200 in this connection. Pass
journal entries of debentures are cancelled at once.

1 S[ATS 2012 31 T 0T 3 TRl % 100 1T 500 6% )OT9 Tl TSI H 48,400 H @ilfar
qAT 39 THRY T 200 A o HATIehT STaeaeh STafsat o € AfS Yoot shl e fHTed ot
RISl

What journal entries will be passed in the following case for issued and redemption of
debentures :

YOTaSTT o AT ST e oht foieT wfcRerfer & <1 s Sier Tfarfsat & -

1,000 7% debentures of 100 each issued at 98 and redeembable at 102.

Why division of profitsprior to incorporation andpost-incorporation is necessary ?
HHTHTA | &l 3T AT TT GHTHSH o 18 o AT o [IHTS FT ST € 2

What is net assets ? How will you calculate it ?

X7 T AT 82 FEeh TUMT fohdl YehR shl STTart 2

For calculating the profit prior to incorporation and profit post incorporation, name any

six items of expenses which appear in profit and loss account and state in what ratio

each of these items are apportioned between two periods.

AT % J8 q9T GHTHTH o S8 1 A J1d A 6 ¢ AT ©d | Tehe B ATt
=T I Tohgl ©: Hel o T SIS qAT IE Jd1sY foh 37 Hal shl URMT T & Ry |

HATSH Tohl-Tor® STTd # fohaT ST & 2

How the profit and loss prior to incorporation is treated in the books of a company ?
HHHT 8 T o AT F BT 3 Aok AR HFIHT ohl Tedehl  fohe JehR fora SITaT @ 2
What do you understand by Sub-underwriting ?

I9-ITFTI & 31T -7 THEId © 2




42.

43.

44,

45.

46.

47.

48.

What is underwriting commission ?

AT wEte o8 hed § 2

A company issued a prospectus inviting applications for 20,000 equity shares of 10
each. The whole issue was underwrittn as follows :

A -10,000 shares, B-6,000 shares and C-4,000 shares.

Applications were received for 16,000 shares, of which marked application were as
follows :

A - 8,000 shares; B- 2,850 shares and C - 4,150 shares.

Find out the liabilities of individual underwriters.

T T 9 10 ATt 20,000 SFRET 3T o6 FTA o forg sferamor fifea foram wvgut fefae
T eI ST o

A - 10,000 3731, B - 6,000 31T C - 4,000 3

16,000 3Tt o fAIT HATee-971 wTH g Fored @ farfead SAee - 36 TR o

A - 8,000 33T, B- 2,850 AT C - 4,150 371

Teeh SAFTIG o FTRIcT 3 0T i)

A company offered 30,000 shares to the public 60% of this was underwritten. Firm

underwriting included in it was 6,000 shares. applications were received for 15,000
shares from the public.

Ascertain : (1) The Liability of underwriters;

(i1) No. of shares on which commission is payable.

T FFOT GRT 30,000 3N SHAT b1 F&d o T $8RT 60% AN o1l 36/ BH
HMI 6,000 LT AT AT SHAT GRT 15,000 27 @I 6 forg selAr-osr a1

T ShIRTT - (1) AR 1 STRicash (i) A sht T o 9T FHHiye <7 g

Write a short note on managerial remuneration.

eIk TTCATHeR” OX U ey o fofan)

Give an abridged form of balance sheet of a company.

ST o Torg T HI&TH STTRR T ITEY SHTSY)

What are the legal provisions pertaining to over all managerial remuneration ?

SR WTICSHTHe 2l STTRIRaH EHT o foTT T ST 1 8 2

X Ltd. wants to make payment of managerial remuneration according to provisions
given in part II of schedule XIII. The amount of effective capital employed by itis 175

lakh. What will be the amount of managerial remuneration and why ?

X feIftree, s1eet X111 % 90T fedter o ST & SR Se-eehig qTierfivss st 9rdr T
ATET & Staifeh Ieeh! TS srireft GSft 175 g 21 SeTes Serwershi aTiesries st TiRT @
Bt e = Bt 2




49.

50.

51.

52.

53.

54.

55.

56.

What is capitalisation of profit.

AT 2T YSTIoRLoT T © 2

State the conditions specified in section 205 of the Companies Act, 1956 pertaining to
declaration of dividend.

ATHIRT T SYOTT o Twey H hraHT A=, 1956 sht o 205 § FHaifta srat &1 aui s
Give any three points from latest guidelines issued by SEBI relating to issue of bonus
shares.

S 31T ok e o e o Geft g e fomm Bt o @ w6 i forg <o)

A Ltd. company with a paid up share capital of 1,60,000 in shares of 10 each proposed
and declared bonus of 60,000 out of current year's profit payable in fully paid up shares
of 10 each at a premium of 50%.

ffeRaa afdRafs § sHa wfafsat d

e A aTRicar aredt s, fSrerehl wew 3f=1 gsit 10 aet quf e 3fen | fawfs 1,60,000
1 off, TN o AT H H 60,000 T G AT BN FoRT| 3Th S8 T T
10 aTet U & S SR o §9 R SR A e 3R 5% SftRm o it R
SR

When the internal reconstruction is desirable ?

AT AT i e B e 2

Name any 8 items which are written on the debit side of the Capital Reduction Account

at the time of internal reconstruction.

8 Ul /S TS i ST YHI-HIV & SH GSiT el @ o Sfere ge7 ot foreft STt &)
Issued capital of Milind & Company is as follows :

fifet== Uue st sht FRITHA GSiT 36 TR @ -

4,000 Preference Shares fully paid Rs. 4,00,00

6,000 Equity Shares fully paid Rs. 6,00,000

It is decided that each equity share should be reduced to Rs. 5 from Rs. 100 and that
each Preference Share be reduced to Rs. 75 from Rs. 100. Give journal entry and show

the issued capital after reduction in the balance sheet of the company.

Ig 97 Toram STaT @ o Tceh Sioadt 319 &7 100 %, 8§ Tee 5 &, o f33T ST e Teieh
SR 3T T 100 & | TR 75 . T e Sw| e afafe AT aom Fwerdt o ggmq
fotfirer ot o et 6 o 7 vy

M Ltd. converts its 2,00,000 equity shares of Rs. 10 each fully paid up into equity stock

of Rs. 20,00,000 on 31st March, 2011. Give necessary journal entries.
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58.

59.

60.

61.

62.

63.

64.

65.

66.

. e 31 9=, 2010 &1 39 10 & ATt 2,00,000 ST ST T 20,000 F. 6 Sfaael
ik | afafdd Xt § a1 {6 31 A1, 2011 1 St i 1 100 . Tef 96 Yed 3iaael
SiEi B O wfterr et 31 s s st Ay

What is meant by Amalgamation in the nature of merger ?

“fererr <t wiifer % wehieRtor & R AT 2 2

Explain the procedure of accounting under 'Pooling of Interests Method'.

et st wehafteRtoT fafer # crafer wfsha st ameme

Pass Journal entries in the books of Purchasing Company in the case of Amalgamation
in the nature of Purchase.

5% sht ifd o TehIshtor | shdl Pl shl QEcehi H SiHel STo 3T a1

Define Absorption.

BIEGEEEIRIEINIE I

Describe the concept of goodwill and explain the various methods of its valuation.

ATl ST ST ST U ShITST AT I8eh Todier ohl Ty ffer w1 wmemsy

What are the factors to be taken into consideration for the purpose of ascertaining the

value of goodwill ?
EATH o W T (uieor shtd qet foh-ford aall ol e § Tt SATereaeh Bl 8

Actual Profits of a firm is Rs. 35,000. The rate of normal returns is 10% per annum. The

average capital exmployed is Rs. 2,50,000. What is the amount of goodwill as per
capitalised method of Profit ?

T FH % Il ST @ 35,000 & €| ST T @HE & 10% a1 8 e
TSI ISt 2,50,000 %, & AT 3h1 Siientor ot & @t o1 goar 31 8T 2

What is super profit ? Explain the method of calculating super profit for calculation of
goodwill.

STFRATST § T ST & 2 TATHT 2T 70T o foTw sferemsy <t e v <t farfer shr wrmremsal
The fair value of equity shares is Rs. 113.50 and yield value is Rs. 120. Find out the
intrinsic value of share and net assets, if 50,000 equity shares of Rs. 10 each issued by
the company.

SR 37T T 3fad g 113.50 %, T Niqhel 4o 120 &, 21 37 1 AT g T 3
FFITeRIT {1 ShifoTd afe SRt §RT 10 %, 3Tt 50,000 Sieraret 3721 e o6t T |

The Balance Sheet of Sapna Ltd. was as follows as at 31st March, 2011 :

| fef. T 31 AT, 2011 1 orgT 56 TR ot :



Balance Sheet

Liabilities Amount  Assets Amount

Rs. Rs.

5,00,000 Equity shares of Rs. 10 each 50,00,000 Sundry Assets 80,00,000
Reserves 20,00,000
Creditors 10,00,000

80,00,000 80,00,000

67.

68.

69.

70.

71.

72.

The company issued one share of Rs. 10 each to the holder of five shares as bonus. You
are asked to compute the value of equity share before and after the issue of bonus shares

of the company.

T o Tk dte S ok €T i 10 %, 1 Uk a7 it foram| STmaent se 3f9mi o
T & el T T Pt o Uk STRT T 9o 14 i o (ol el ST

The face value of the equity share of S Ltd. is Rs. 20 and the current market price is Rs.
210. The company offers the right shares at the rate of 3 equity shares for every 5 equity

shares held. The right share being priced at Rs. 130. Calculate the value of right.
T fAfiiee o T 3fT T SHfoRd o 20 %, 2 T =Te] STSIR qed 210 T 2| TP T 5

HHAT ST o U hl 3 THAT SR T o AR T TEATS HLAT ol SBT3 H A 130

9 2] SARIHR HT 4 1 hIfT|
A company having 9,000 equity shares of Rs. 10 each fully paid and Rs. 45,000 reserves

and surplus issues one bonus share for every three equity shares held. Find out the value
of shares before the issued and after the issue of bonus shares.

Teh T ISTEeh 10 %, 3Tet 90 <ohdT 9,000 Sierardt ST qT 45,000 %, o6 HoRy T 3fiLeh &,
Tedsh 9T 3 ST o ToQ weh s 337 feffirg sheelt 81 s 3wt o e o6 gl o asimq.
T T 7o T4 TSI

Mention any two situations of winding up of a company by the Court under section 433

of the Indian companies Act.

AT PO ST <t 9T 433 o6 3T=Tid shis of UET giferfaat sy, S =manad g
Y9 T ST faT ST Heoh

Mention the situations for voluntary winding up of a company.

T o Ufesen gae St gifterfaat sy

What items are included in the statement of affairs which is perpared at the time of

winding up of a company.
ST o THTI o G AR TRl ST et Reerfer forawor  fore H&T Rl SiFaferd foraT ST @ 2
From the following information calculate amount of deficiency by preparing opening

balance sheet.



freferfia gt & sroT o1 STfver forgt sITeRt et =iTeT I ShIfSTT
10,000 Preference Shares of Rs. 10 each fully paid

10,000 Equity Shares of Rs. 10 each but Rs. 7.50 called up

20,000 Equity Shares of Rs. 10 each but Rs. 5 called up

cash with liquidator (before making calls but after final payments to outsider Rs.

35,000)

Essay type Questionsww i

1.

Define accounting. Who are the interested in Accounting and state briefly the
information needs of them.

TR 1 IRATNG IS @i § &9 W@ el &9 § T 3Tl gamT gt
STTETIHATT I HET H TS|

Write short notes on the following :

frfeiaa = diem feoaforr fafe
(i) Fundamental Accounting Assumptions H&¥d T@ieh HI-IARIG,
(ii) Functions of Accounting data ;oR@ieh THehT o HRG

(111) Going concern concept ;=Te] ST T AU,

"Accounting is the means of measuring and reporting the results of the economic
activities."

Beraien 3TffeR TS hl HIUH T 3= o4h i T HTeH B1b 39 s hi geien Hifse
AT TRITeh o 3639 T AL i THATSY|

What do you understand by the term 'postulates' and 'Conventions' ? Explain any five
conventions of Accounting.

WIS T GRS STt | 3T T THE & ? Tieh shl fehegl aiel Traaral sl T8
ifsr)

What is the importance of accounting principles ? Explain the nature of accounting

principles.
AR (Tt o1 T Heed © 2 i@ioh {1t shl wifer a1 gl il

The following information relates to the business of a partnership firm :

(a) Average Capital remployed in the business Rs. 50,00,000.
(b)Net trading profit of the firm for the past three years (after taxation) were : Rs.
10,20,000; Rs. 6,40,000 and Rs. 7,40,000.
(c)Reasonable Return expected in the same type of business is 10 percent.
(d)Fair remuneration to the partners for their services is Rs. 2,10,000.

Calculate the value of goodwill —



(1) On the basis of five years' purchase of the annual average super profits;

(i1)On the basis of capitalising the annual average super profit at the reasonable
return of 10%; and

(111) On the basis on an annuity of super profit, taking the present value of
annuity of one rupee for five years at 10 percent interest is Rs. 3.791.

Comment as to which method (out of the above) is more appropriate and why ?
freaferad T=rTE Tk TSR wH o e § arfud 1

3TE SR H ol g8 e ISt 50,00,000 F.

&G T A Nl o J( SATITIGR A9 3 6 AEE o - 10,20,000 .3 6,40,000 .
qUr 7,40,000 &3R8

g 3 TR R H o i 3faa &€ 10 e 356

@S TSI T Taret o forw 3o arfeafires 2,10,000 . afi 21

el o H o sh TUHT I :

(i) AT e ST o die T4 o TR TR

(if)aTTeR e ST o 10 STaRTA sht Iferd 3T R YSTeRTuT i o ST 90 qu
(iii) ST Sl aTfer gt o TR WX, 10 FTd SIS Al 3T 0 i a8t
T 1 . =t anfdie e 1 W 7o 3.791 % 7T S

I forferlt # & spiH-wt oY watferes o @ i i 2

Calculate the value of goodwill by : (i) 3 years' purchase of actual average profits; (ii)

10 years' purchase of super profits; and (iii) capitalisation method from the following
information :

(1) Average capital employed Rs. 4,00,000.

(i1)Net trading profits of past four years : Rs. 68,000; Rs. 75,000; Rs. 80,000 and

Rs. 92,000.
(111) Normal rate of return in similar type of business is 15%.
(iv) Net profits of last two years include the income from non-trade

investment Rs. 3,000.

(v) The fair remuneration of owner for his services Rs. 15,000 per annum.
TR gt & (i) Sredforsh STed AT o 3 9T o 563 ST, (i) STTEATH o 10 9T o 567
IR TS (i) ISTeroT ferfer ST el sht Het 1l <hifSIg -

(i) e forfrnfSia gsit 4,00,000 %. |

(if) Feret =R 3 o Y SATATER @19 : 68,000 ., 75,000 %., 80,000 . T 92,000 %.|

(iif) 3} TR o g H AT I Sl & 15 Siaerd|

(iv) U=t 3 sl o et § 7T samaniees fafa=mm @ 3,000 %, it 3 wftafaa )

(v)TaTHY T SHT et o for 3fera urfesrtaes 15,000 . anfes 21




8.  Explain the Concept of 'Future Maintainable Profits', 'Average Capital employed',
'Normal Rate of Return' and 'Super Profits' with suitable examples for valuation of
Goodwill.

Tl o qediohd o oA wfasy § srm @ arg o, csftad fafrifsa gsfe, ame=
YT G0 TS AR’ 3hl STaRuaTY shi 3frd Serewui gfed samea shifsm)

9.  "Cost concept does not give a true and fair view of the state of affairs of a bisiness."

Critically examine this statement.
BEANTA TFT-ef} TN Ueh AR il T 9 3fa ol Reurfa i wehe 7t ot 21p 5@
U FI ATAATCH foa= Hifu)
10. Describe in detail the concepts of Accounting.
TRGTeHH ohT ST ! o el ferfiag
11. On 31st March, 2014 the Balance Sheet of Ashok Ltd. was as follows :
31 |, 2014 T 3130 fafies o1 fergr g yerm o
Balance Sheet
Liabilities Rs.  Assets Rs.

Share Capital : Buildings 4,50,000

Authorised and Paid up Capital : Machinery 8,20,000

6,000, 7% Preference Shares of Goodwill 1,20,000
Rs. 100 each 6,00,000  Stock 1,40,000

1,10,000 Equity Shares Rs. 10 each 11,00,000  Debtors 60,000

Securities Premium 1,50,000 Cash at Bank 30,000

Creditors 1,70,000  Preliminary Expenses 30,000

Advertisement Expenses 20,000
Profit & Loss Account 3,50,000
20,20,000 20,20,000

Preference share dividend is in arrears for two years.

The following scheme of reconstruction was approved :
(a) Preference shares to be reduced to Rs. 80 each and equity shares to Rs. 5 each
fully paid.
(b)One Rs. 5 equity share to be issued for each Rs. 10 preference share dividend
(gross) in arrears.
(c)Goodwill, Advertisement Expenses, Profit & Loss Account and Preliminary
Expenses are to be written off.
(d)Machinery to be written off by Rs. 1,30,000.
(e) The authorised share capital is to be restored at original figure.



12.

13.

14.

15.

16.

17.

18.

Give necessary Journal entries and prepare the revised Balance Sheet.

TR ST T foTet 3T T T ATy SehraT 2

qfaor i freferfa i wiifa s

;3G QAR S T 80 %, ok AT Sfadel S I S5 %, Tk YOI Fad el fea
S1i

CE QTR 37RT TATHIST 3hT SoRTAT AR ;HHAS, o Tedeh 10 . 3 fordl 5 &, 3T

qms‘ﬁaﬁa?mﬁﬁﬁﬁ%mm|
HE wTfd, fogmue sqg, arv-gry @rdr der IRitwes =34t sl Aufaiad femam
Sl

35 TRRT %1 1,30,000 . & STAfeARad foram STy

OEA HfYT =1 GSi =l Igehl gt TR o @ Sy

ST e Tfafsar ifsre qer dnferd fagt smm
What are the different methods of alteration of Share Capital as provided under the
Companies Act, 1956 ? Discuss the legal and accounting procedure for each of them.
FIOT SRR, 1956 % ST=ia %1 YSit § qie shi shia-ai € fafemt € 2 316 8 T
1 el e TRaieh Sk Rl Ui i)
Explain the procedure of formulation and issuance of accounting standards by the
Institute of Chartered Accountants of India.
& 3L AT AT THISULTEH 1% ST GRI T A ST To ST Fohdl ST o6 adieh
it e Fifv

What are the points that will be considered by the Accounting Standards Board before

formulating proposed Accounting Standard.

ST e ek ST s § I sk HTeh 1S fofif forgafl T e Tl € 2
Give salient features of A.S.-6 on 'Depreciation Accounting'.

A [::TH G’ T T HHe-6 I TE faRiward g

Define "Accounting Policies". Explain the fundamental accounting assumptions on

which such policies are based. Give examples of some such areas in which different

accounting policies are encountered.

Bergier faib sht afeaeT S| 3 Jetsd Siieh HI=aredl i sIqisy (59 o 3 fifaar
AT Beft &1 V& 3 & o Iareeer e STt - erarer fiferat oré St 21

What is meant by forfeiture of shares ? Explain the accounting treatment of forfeiture of
shares.

ST o BLOT O AT AT & 2 AT oF BT o TFal=l H oigioh dra-ef] SHagr gHesa|

What is the difference between equity share and preference share ? Give different kinds

of preference shares.



19.

20.

STorTST ST AT SATIHI 3T H T 3T 7 2 HATUHE 37901 o farfv wepm srarsal|

Ram Ltd. issued a prospectus with the object of inviting applications for 20,000 Equity
Shares of 10 each at a premium of 10% payable as : 3 on application, 5 on allotment
(including premium) and the balance on call. The issue was subscribed to the extent of
2 times. Applications for shares below 20 (10,000 shares in total) were rejected. An
applicant of 10,000 shares was given 2,000 shares. The remaining shares were made
pro-rata allotment. The excess amount to the extent of share value was retained.
Shareholders holding 600 shares failed to pay the allotment money. Shareholders
holding 900 shares failed to pay call money. Show necessary Journal entries in the

books of the company.

T T, 4 10 3Tt 20,000 ST 3= o 10 fawra Sifiem o€ sifwe™ o forg e gl
Frifera foram 2 <991 3@ TP ST 9 : ARET W3 R e WS ity afag i 9w g
W 39 fria o foTg 21 T Safirer forar el 20 T @ W o AEEH-IH FA 10,000 A
g, ST X 3 T 10,000 ST 6 T AT i 2,000 7 {3 T AT 1 F2A0q
TS Toral TRI| SATTereRy TRT ol 3F=T o ot ol ST o Ueh form T 600 30 o SHzTeey
ST TR AT A FH F sramed &1 900 T 6 Sy AT ART A1 I F H
3w T5| T T TEdeh! & AT St Tia At ey

Lalu Ltd. was registered with an authorised capital of 180 lakh, which is divided into

60,000 9% preference shares and 1,20,000 equity shares of 100 each. The company
purchased plant & machinery and issued 10,000 9% preference shares at a premium of
5% as fully paid up to the vendors. 30,000 9% preference shares and 60,000 equity
shares were subscribed for by the public. These shares were issued at a premium of 5%
and were payable as :

On application 50, on allotment 30 (including premium) and the remaining amount
on first and final call. Kalu having 2,000 equit shares, paid calls in advance with the
allotment money. Balu having 1000 9% Pref. shares, failed to pay the first and final
call. His shares were foreited and reissued @ 80 per share as fully paid up. Journalise

the above transactions in the books of the company.

e ferfee 180 @ =t sfrid ISit & Torfua =l 715 ST 100 3Tt 60,000 9% YETErhR
eI 3R 1,20,000 Flereret ST § fawiiora 21 sweoet A woiie e 7l s shi SR fashar !
10,000 9% TR 33T ;quiads 5% iR o Fifia fohail 30,000 9% vaTfeeRR ST
31T 60,000 Sferardt 39T ST g SAfUET R T 3 3w 59 Sfferrm w fife o e
T O TIF T SRR | O 9 AT WTEAT O W50, 3T W 30 iR wfeds A R it
S HI Al AT 9 shie] |, forrsh @ 2,000 Siererdt 3f2r o, sreied TR @ & gum
HIT SAf-dH AT T A H ST e, [S€eh 9@ 1000 9% YaierepR S o, g 3R



21.

22.

HI-TH AT T A FA H S7EH T 6k S Sod L ford T 3R 80 Wy w1 quiedt
& 1 q; i fordl TR shvaet ol qeehi | SHo Sfafet i)

Ranjana Company Ltd. issued a prospectus inviting applications for 8,000 equity shares
of 100 each at a premium of 20 per share ; payable as 30 on application, 45 (including
premium) on allotment, 25 on first call and the balance on second & final call.

Applications were received for 12,000 shares. Allotment was made pro-rata to the
applicants for 9,600 shares, the remaining applications being refused. Money over-paid
on applications was emplyed on account of sums due on allotment.

Ramesh to whom 160 shares were allotted, failed to pay the allotment money and on
his subsequent failure to pay the first call, his shares were forfeited. Mohan, the holder
of 240 shares, failed to pay the two calls and his shares were forfeited after the second
call. Of the shares forfeited, 320 shares were sold to Anil credited as fully paid for 90
per share, the whole of Ramesh's shares being included. Show Journal and Cash Book
entries.

AT FAT fAfHeS 4 100 1T 8,000 $iFEdt SR F HTERH-UT AT B Teh Tforawor
fifia fomm, S 20 o ofer Sfifiem @ i SohR 99 9 : STEiET W 30, SfE 3TEed W
fifeer |feds 45 , o | W 25 3 a1 99 fadta 7 sifew #f1 @

HTAGH- 12,000 3T % TT6 U 9,600 I o ATGH-TAT T e FATITT L e
T QT I HATAGH-TAT ol LA FoRaT TRIT| AT W ITH SAffih & TiRT ol e
T < TIRT H SRINT ToraT 7| THeT 59 160 31T STTaTed fohd T 9, STTaiest el SIerd |t UX
3T TV T TTATT hid W 3Tawed T, 37q: IHH Si9N hT gX0T K Fora wam| #ie, s
240 30 T W AT, ST AT G T TRWT BT A FA H 9w &, 37 38k 3
ferefter wiivT o are &wor ot o2 T T ford i ofeTY § & 320 ST S1fer Bt uvtew ofw & &
90 Wi 3721 o fewrer & s T, ST THRT o wvft 3fR1 WAfor o) T vt St aedeht §
AT e TR UhS &t hl ISt hifem)

Soral Ltd. issued a prospectus with the object of inviting applications for 10,000 equity

shares of 10 each at a premium of 10% payable 3 on application, 5 (including
premium) on allotment and the balance on call. The issue was subscribed to the extent
of 2'2 times. Applications for shares below 20 (5,000 shares in total) were rejected. An
applicant for 5,000 shares was given 1,000 shares. The remaining shares were allotted
pro-rata. The excess amount to the extent of allotment dues was retained. Shareholders
holding 300 shares failed to pay the allotment money and call money. Shareholders
holding 150 shares failed to pay the call money. All 450 shares were forfeited. 150
equity shares out of the lot of 300 shares were reissued at a premium of 20%. Show the

Journal entries including cash entries.



23.

| fA. 7 10 At 10,000 gfoaret 3721 o fer 10 Sfawra Sifeem o e Amf=e w3 6
1T vk foremor-u Frifoa foraml 37 ofel W 316 W3 AEed |, 5 Miftem afeds ot o
T a2

frteT o foTQ 21 T SfireT UTe gRAT 20 R W FH AT ;FHA 5,000 g AT
T fe T 5,000 AT oh Teh TG i 1,000 I e T 19 okl ALATATT AT fera 7011
FTAE TR AT EHAT e 3ATeeh TRT Rl Teh T T 300 ST o 9k STeie UIRT F F1T T
AW i § 3TEwe 1 150 R o ARG 71T TRY A1 e i 5 sramed @) aft 450
0T 1 Sfod oL foram T 300 Sfeq o T AR o WHE W W 150 3 20% HiEEH W
iR o st 0 e R e e S st i
Tirupati Ltd. invited applications for 1,00,000 of its Equity Shares of 100 each at a
premium of 20 per share, payable 30 on application, 70 on allotment including
premium and the balance on first and final call.

Applications for 1,25,000 shares were received, it was decided to (a) refuse allotment
to the applicants for 5,000 shares; (b) allot in full to applicants for 20,000 shares; (c)
allot the balance of available shares pro-rata among the other applicants; (d) utilise the
excees application moneys in part payment of allotment moneys.

Mr. Ram holding 1000 shares to whom shares had been allotted on pro-rata basis
failed to pay the amount due on allotment and call and Mr. Shyam holding 500 shares to
whom full allotment was made, failed to pay the amount due on call only, these shares
were forfeited.

800 forfeited shares of Mr. Ram and 200 forfeited shares of Mr. Shyam were reissued
at a discount of 10 per share to Mr. Krishna. Show the necessary Journal Entries

including cash in the books of Tirupati Ltd.

foafar ffee 1 100 Her et 1,00,000 Ffererdt STt o forg 20 St 3f=r shftR o staed
AT ford IS8 W 30 wrefAT v o, 3rrees W Hiftey wfeas dor 9w ufsr wem ue sifaw
HiT T R

1,25,000 =11 o fo1q Srefm oot 5w g, 2 ol feparm {6 ;37 5,000 3i=1i o Sre@ehi
ol ST o fTT #HA1 T foaam STk 3 20,000 39T o SATIEehT i YOT ST fohaT STk
TG, Y TG hl FATTATT sie L [GAT ST ;56, TG T ATIeT UTRT T AN e
T3 T o T e o s

off Tt S8eh O 1,000 377 8 e o FeImeTa sfe foram o, STreed o #iT ARt o |
Fawef 1 TE o R ST qUT sfe o &9 H 500 327 e fopar o, i TiRT o7 31w T,
3T AN T 20T L foram mm|




24.

25.

26.

27.

28.

W o BT ol T ST & 800 ST S YA o 0T fohdl TRY 3311 # & 200 ST AT AT
off oot =t 10 Wi 3f7 o o1g o foparr | Tt fafies ot qedent o Tske &1 fe@md g
CIEEREASE I EIERIEAIS I
What is meant by forfeiture of shares ? Explain the accounting treatment of forfeiture of
shares and their reissue.

SRl o BT | AT AT € 2 AT o BT T GAMA o Feee H iishd Hreeell sqaer
BEEIER]

Discuss the different methods of redeeming the Redeemable Preference Shares. Also
give necessary Journal entries under each method, giving imaginary figures.

SN STRMEM A3 o1 e fora-fo fafer g feram i @erar ® 2 yodes fafer & orarer o
IR 31 o §U, e Tt ot g

What are Redeemable Preference Shares ? State the legal provisions regarding

redemption of such shares.

ST TR 797 o7 § 2 3 31971 o Sie Traeeft Uik e 1 oo i)
Borex Ltd. had 20,000 12% Redeemable Preference Shares of 10 each, 8 paid up, the
company decided to redeem these shares at a premium of 20 per cent. The company had
a credit balance of 1,40,000 in Profit & Loss Account, 50,000 in General Reserve and
20,000 in Securities Premium account. For redemption 5,000 equity shares of 10 each
were issued at 10% premium. The issue was fully subscribed and all money was duly

received. Give necessary Journal entries to record the above transactions.

e o1, % 9@ 10 3Tt 20,000 12% e STTEHT 37 o 57 00 8 Wi 317 Jaw o1 ot
ST 3 S ok 20% Sifers o e o1 fofar fofam mm seaet o a8 -1 @ 3t shfee
T 1,40,000 3T, T Ee H 50,000 =T ot Sffa SifEm | 20,000 % 1 foremm ol
A o o 10 3T 5,000 STl 3F=M 1 10% iR ot friea foram mam & |t sfsr
SAVTET U I T TRT YT & TS| 37 SHaRRi % A 3 S ety i)
Telagana Ltd. had issued 5,000 Redeemable Preference Shares of 100 each fully called,
due for redemption at a premium of 10%. The following balances appeared in the books
of the Co. :

derTHT fafeg = 100 aTet 5,000 =Mt SfemT 3T i st W &) o o qot e
[T 1 7TE off, 10% SR ot 2me §) ot sl qedhi § Sfciiad oy o

Redeemable Preference Share Capital 5,00,000
Calls in Arrear (Redeemable Pref. Shares) 10,000
General Reserve 3,00,000

Securities Premium 40,000



29.

30.

31.

Foreign Project Reserve 2,00,000

It is ascertained that :

Calls-in-arrear are on account of final call on 500 shares held by four members whose
whereabouts are not known. 50,000 of the Foreign Project Reserve is free for
distribution as dividends. Balance of General Reserve and Securities Premium is to be
utilised for the purpose of redemption and the shortfall is to be made good by issue of
Equity Shares of 10 each at par. The redemption of preference shares was duly carried
out. You are required to give the journal entries and show how these items will appear
in Company's Balance Sheet after redemption.

IE 1 g1 foh = sarferat ot e fordl Y 500 ST R SAfeam |t SR 81§49 SAtRAt
& U o TR T 21 foraeft a9 % 50,000 AT % €9 F forawor 2 T 2
A G SR ferfd SR 61 99 Mo o W A 8§ SR FH B 10 Tl St
2T shl TH-Hed O TiTHA 3ok O T 21 STRMT S T SMe T 90 &1 TR S9! ST
st & € 3T I8 s & for 3 o qaiq wei &l fag o ford s famma e
Explain the meaning of debenture and its various types.

YOr-ust o1 37 Wt farf= Jenrl bt ezl

B Ltd. made the following issues of debentures :

(1) For cash, 6,000 7% Debentures of 100 each at 5% premium.

(i1) To a creditor, from whom machinery worth 1,00,000 was purchased : 1,100
7% Debentures of 100 each.

Record the above transactions in the Journal of the company.

&t fetfiies = )or-ai o e forRaa e o -

g T 6,000 7% )UI-UF ;100 ATAG 5% FfERm uX)

g U oHer @, [EE 1,00,000 AR SR Y 1,100 7% )OT-9F 100 1Al

SR SFAET bl T o ST § a1 HIToIg|

The Rajasthan Timbers Ltd. issued on Ist January, 2013 10,000 14% Debentures of
100 each at 95. The debenture money is payable as : 50 on application and the balance

on allotment. Applications for 15,000 debentures along with the deposits required were
received. Allotment was made proportionately. Over-subscription being applied in
payment on the balance due on allotment. Allotments were made on 15th January and
amount received on 31st January. Interest was payable on 30th June and 31st December
each year, the first payment being due for the period from Ist February to 30th June,
2013. Pass necessary Journal entries in the books of the company.

& Treteu forsm fafiee 7 1 S9a, 2013 &1 100 aTet 10,000 14% )OI-9F 95 o feamsr &
frifer forn yor-usr ST 50 3TaeT oX ar iy Ay de e ol 15,000 )Or-u=t sl s



32.

33.

34.

U o6 TTT ST ST Wfeds STH g T 371 AT ST fopam mm -
AW GTITRT e T G G o WA H FANT h1 TTE| 15 STHaRT T Ao Foham T o
TS O ST I TRT 31 S 2l Sofed T Al TE| )O1-051 0T 31! Tedieh oY 30 S SR
31 TGUFI T 9 9K | WEadl & 30 ST, 2013 AT ST 3T Fo $Ta 93 81 7T 1| w1
B CIR I ERR RS R IE RIS I

Krishna Company Ltd. issued debentures of 6,00,000 on 1st July, 2009 at a discount of
5%. The debentures are repayable in three equal instalments of 2,00,000 each on 30th
June every year. Calculate the amount of discount to be written off at the end of each
year, assuming that the books are closed on 31st March every year.

foom st feAfiee 9 6,00,000 o YUI-o 1 ST, 2009 1 5% o W Frifid fordl gt
WA Tcdsh oY 30 7 1 2 ARG o6t o sRrer fereat  foparm SR Sreder o | saferfiad
o1 ST ATt a1 2T TR A1 IS 78 AT U foh ThaT-qeeh 31 Wi=l ol o= o6l STt &

On 31st March, 2012 the following balance stood in the books of White Ltd. :

aTge fAfiee ol qedshi | 31 /1=, 2012 %1 FHHIRIT AT < :

12% Debentures (including 50,000 Irredeemable debentures) 2,00,000

Debenture Sinking Fund 1,62,000

The above fund was invested in the following securities and shares :

3wk iy frmforfiad whvforit wa siet # forfrnfora o -

65,000 3%% Government Loan 66,260; 70,000 5% Government Loan 54,968;
20,000 10% Debentures 15,542; 100 12% Preference Shares (300) 25,230. The

above investments were sold net on 30th September, 2012 as under :

3% Government Loan at par; 5% Government Loan at 91%; 10% Debentures at a
discount of 20% and 12% Preference Shares at a premium of 2%. On 30th September,
2012 the company redeemed its debentures at a premium of 8%. The interest on
debentures had only been paid up to 31st March, 2012, Draw up the necessary accounts.

Suh et et 30 Rrdver, 2012 =T Y Aed T TR @ = T ¢ 314% SRRT O
A T, 5% FTHRT )OT 91% hl TEHTE 10% YO0 20 TTRTT S8 0 qAT 12% AT T
2 wifrerd SR W 30 TaawTE, 2012 i )UTHT T 8% SHTHRIT 9T ST o2 foam Tl yorersiy
TUSTST 31 |, 2012 o {331 ST <01 91| AT @Td sH15Y)

On 1st April, 2010 Tata Gas Ltd. issued 6,000, 12% Debentures of 100 each, repayable
at the end of three years.

As per the terms of issue the company will create a Non-cumulative sinking fund for
redemption. The annual allocation to the sinking fund is 2,00,000. The amount of this
fund should be invested in securities.

Investment were sold for 4,10,000 and debentures were paid off.
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Prepare necessary ledger accounts for three years to record the above transactions in
the books of the company.

21T 1 fafiee 3 1 31at, 2010 &1 100 9T 6,000 12% Yorast fffera for, fomepr 3 at o
TG IIEH AT 2

feteT 3T 21t o SR HFoHT T o fTe st S i o1 fwior Hufl e iy
o 1T 2,00,000 MY T TTEUT 81 $9 IS T SR Stavfadt § foram s faf=mr
4,10,000 T sTEeRT YOTaaT ShT e R T Tr=m|

FHFIHT T TRl H §7 SASERI ohT 1@ shi o oA 3 81 o ST @ 13|
The Relience Industries Ltd. had issued 12% Debentures of 2,00,000. They were
redeemable at 5% premium on 31st March 2013. On the date the other concerned ledger
accounts showed the following balances :

fetga gveedts fafiee 3 2,00,000 & 12% )orast st fefer femam| )orastt st siem 5%
e o 31 |, 2013 w1 AT i T mm g fafer st s arat @ smfaftad g
3qcTsy ot

12% Debentures Sinking Fund Account 2,10,000
12% Debentures Sinking Fund Investment Account
[In 10% Central Government Loan 2016 of the Face value of 1,85,000] 1,81,000
Bank Account 2,21,500
Premium of Redemption of Debentures 10,000
On 31st March, 2013, the Investments were sold at 101% and all the debentures were
duly redeemed. Write up all concerned ledger accounts.

31 |, 2013 i faf=mm st 101% 92 a= m=r A auft Yo st siee i far mm
HldYeh Yld s-lgd|
On Ist January, 2007 Tata Power Ltd. issued 1,000 15 years Debentures of 100 each
bearing interest at 10% per annum. One of the conditions of issue was that the

debentures could be redeemed by giving six months' notice at any time after 5 years at a
premium of 4% either by payment in cash or by allotment of Preference shares and/or
other Debentures according to the option of Debenture holders.

On 1st April, 2012 the company informed the Debenture holders to redeem the
Debentures on 1st October, 2012 either by payment in cash or by allotment of 12%
preference shares of 100 each at 130 per share or 15% (2nd) Debentures of 100 each
at 96 per Debenture. Holders of 400 Debentures accepted the Preference Shares,
holders of 480 Debentures accepted the offer of 15% (2nd) Debentures and the rest
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demanded cash. Give Journal entries in the books of Tata Power Ltd. to record the

above transactions.

1 SHadt, 2007 @ 2T der ffies 5 100 aret 15 a™d 1,000 )oros frifaa o fom @
10% aTfYeh ATt o &1 Fiee 1 971 # Uk 91d I ot off foh 5 v agrq forelt oft 9991 ©: w1
T AT TR BT )OTTAT 3T 4% SR O SITe o Hahell ) )orate 1 1Ret t e foreret

ST 1T )UT9 3T T Tl &

1 3T, 2012 T FFIAT YOI 2l Hiord o foh a1 1 379, 2012 1 )OT9E
e FohE H WA ik AT 100 AT 12% AR S 1 130 Wi 321 W smafeq
Feh JAAAT 100 ATA 15% ;Fcfi=g )orasi bt 96 e )OTosT WX JATe e ek Tl 400 )OTa=
% ST o STRMM M T 480 )UTTHAT o &RhT 7 15% ;f5cag, )ord=l o e o1 TedTa
ST foRAT QT W 3 e WITAT ol /T 3| T Frareell IHIeh AT o Gral-d § 2Te
dier foafiee st qedent # SHo gfafsat dfg)

What do you understand by 'purchase consideration' ? How is it ascertained ? What

journal entries are passed in the books of purchasing company for the purchase of
business and payment of purchase consideration ?

FI-ITAE & T FAT GO & ? AT hl TG fohaT ST 2 2 Shal Het i Teaehi |
SATIR 31 BTG Te S-St o AT i o foTe R St Tfafsat i St &2

What is meant by 'profit prior to and post-incorporation' ? Explain the method of

ascertaining them. How such profits and losses are dealt with in company accounts ?

FHTHA § Yel qT S1E oh Tl § T ST € 2 UH AT ohl ST shid shi foifer §aeimse| To
TATHT T BT T T 31 I@T-JEehi H TG TR TehL Tt ST 8

A company which purchased the business of a sole trader agreed to collect his book

debts and pay off his creditors at a commission of 5% on amounts collected and 3 per
cent on amounts paid, any loss or profit in the process being that of the vendors. The
debtors on the date of purchase were 80,000 and creditors were 12,000.

Three months later the company reported that out of the debtors, 48,000 had been
collected in cash including 3,000 previously written off as bad debts. Discounts allowed
were 1,200. Creditors were paid off in full, the discount earned being 400. A claim of
1,000 for damages had also been admitted and paid in respect of a late supply of goods
to one of his customers by the firm.

Journalise the transactions in the books of the company.

Teh T A, Fore TohTeh! ST T SATIR WiET, 36eh T )UT S8e i ST 3Heh AHEN
T IR T TS foFaT, TSTe st forer T e BT 5% STIX SRt TR & SR 3% RIS




40.

T 39 MR § 1S off AT-gT AT farsharati st off| s ot TR i 38R 80,000 3R
TR 12,000 21

< T o a18 T S I A foR SR § 48,000 TR e &1 T 8 R 3,000 3T Ut
T St B, T weet syafofiaa foram S et o, 1,200 31 3¢ 3t TS| e bl J0 <
e TR 400 2 9TH §S| BH oh SR 3%k UTEehi H W T i oL § AT WS o SRT 1,000
T il s ara i Tefiehr ST ae|

FFIHT T TEhT H 37 SFeTeRI sh Siel Safsat hifsrl|

Rajasthan Udyog Limited incorporated on August 1, 2012 received the certificate to
commence business on August 31, 2012. It had acquired a running business from
Messrs Gupta & Co. with effect from April 1, 2012. The purchase consideration was
5,00,000 of which 1,00,000 was to be paid in cash and 4,00,000 in the form of fully
paid shares. The company also issued shares of 4,00,000 for cash. Machinery costing
2,50,000 was installed at the end of the year. Assets acquired from the Vendors were :
Machinery 3,00,000; Stock 60,000; Patents 40,000.

During the year 2012-13 the total sales were 18,00,000, the sales per month in the first
half year were one-half of what they were in the later half year. The net profit of the
company, after charging the following expenses, was 1,00,000; Depreciation 54,000;
Audit fees 7,500; Directors' fees 25,000; Preliminary expenses 6,000; Office expenses
39,000; Selling expenses 36,000; Interest to vendors upto August 31, 2012 2,500.
Ascertain the pre-incorporation and post-incorporation amounts of Profit and prepare
Balance Sheet of the Company as on March 31, 2013. Closing Stock was valued at
70,000.

1 STE, 2012 1 TSTEAH T [AHES ohT GHHTA §HT 3R 31 ITE, 2012 %l 36 AR
SR S 3T YHTOT-9 SITH &1 TRIT| POt o 1 3155, 2012 ¥ TTHT TUS SHFdHT 3h =ITe] SATIN
TE0T o ol R e 5,00,000 ffEra g S 6 1,00,000 Tehg 371 4,00,000 qoies it
T 3 ol T | 4,00,000 o 3T TR o forg off i B, 2,50,000 S ARG 6T T
Wi a9 % 3=q § MR TS| AT WS FHOAT H A ki T3 GRIRl 59 YRR off ¢ Aefia
3,00,000 35 & 60,000 35 YT 40,000 |

Y 2012-13 H et foishT 18,00,000 T B3| TaW 6 HEMIT § iemrs forshl Afaw 6 A& Al
yfc are & forsht & el off) fFfctRad sae wer % g shFaHt ot 37 19 1,00,000 o,
[T 54,000 =5 Sfehatar 31 B 7,500 & HTCTeh! sl HIE 25,000 3 TREHEF S 6,000
FEAT =T 39,000 F forshl =7 36,000 & forshar ht sa1ST 31 3T, 2012 T 2,500 |
HEHT % Yo I 9T o AT sl J1q hieTg TR 31 A=, 2013 I FHFOHT AT gt Fam
hIfSY sf~q wTeh T 4 70,000 <l
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How liability of Co-underwriters will be determined in case of joint underwriting ?
Explain with the help of an imaginary illustration.
Hh AT shl ST H HE-HANTIIRT T ST TRIear 8 i il ? Hieufe et
T T
What do you understand by underwriting of shares and debentures ? Explain the
provision of Companies Act, 1956 regarding payment of underwriting commission and
explain meaning of firm underwriting.
RN Tel )OIt o ARG & AT A1 GHerd & 2 ARG FHITH % A o g FHeot
HAEH 1956 % TG h1 THATST TAT GG AT T SR T i)
Y Ltd. incorporated on 1st January, 2013, issued a prospectus inviting applications for
20,000 Equity Shares of 10 each at face value. The whole issue was underwritten by A,
B, and C as follows :

A : 10,000 shares B : 6,000 shares and C : 4,000 shares.

Applications were received for 16,000 shares out of which marked applications were
as follows :

A : 8,000 shares, B : 2,840 shares and C : 4,160 shares.

Find out the net liability of each underwriter and pass necessary journal entries in the
books of the company, assuming that underwriting commission is payable at 2.5%.

1 S, 2013 31 GHMTAT B aTelt a1 fAfHES ST FHHE g1 SR 36 10 3Tt 20,000
STl ST T AT W HTTHH 3 o STTee-9 Wi §Y U ioraror fifia feram sisit
3 gt Pt 3q T, ot o off T et s & AR fer

T: 10,000 I ot : 6,000 A} AATHT : 4,000 370)

16,000 ST 3 foIQ straie-u= wrH 8¢ S ¥ e sfer frefefad s @ o

T : 8,000 331, T : 2,840 3 TATH : 4,160 3|

Scieh SATITe 31 J( SR T ShITSTA AT SHFIHT 6l TEehi H I8 A §Y STARIF Sl
wfafsat v for i st 2.5% frwa T 2l
J.M. Limited 1ssued 20,000 shares which were underwriten as follows :

A : 12,000 shares; B : 5,000 shares; C : 3,000 shares. The underwriters made
applications for firm underwriting as under :

ST, fafiies = 20,000 331 frifea foret s fe weem & <afsrmifie o -

3 : 12,000 IR S : 5,000 I I H : 3,000 M| SRR 1 ThR & Fgg AR
EANEECICLEEREDER

A : 1,600 shares; B : 600 shares; and C : 2,000 shares.

The total subscription excluding firm underwriting but including marked application

were for 3,000 shares, The shares as per marked applications were as under :
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F AYEH HH AT T AT AT T Fd g, ATk faf-ed Aol bl FiFATerd
FTd g 10,000 311 o ford gl Tarfed straed-uali # faifed e f TR o
A : 2,000 shares; B : 4,000 shares; and C : 1,000 shares.
You are required to show the allocation of total liability of the under writers assuming
that firm underwriting shares are treated as unmarked and therefore benefit of such
shares be given to all the underwriters.

ANFTITHRT 1 FoT I TAATFY T8 T gY o w ARmmfia sfwr sifafeea &, swfemr 7
ST 6 AT AT ST T ST &9 H fooT ST 8
What do you understand by the final accounts of a company ? Describe in brief the
provisions of Companies Act, 1956 regarding the preparation of final accounts of a
company.
IO o a9 Wil ¥ AT T qHAd & 7 P ok Afad @Id T el St
srfrfem, 1956 o SraEmT o wiew § qui fif)
Using imaginary figures prepare balance sheet of a company in vertical form as given in
Schedule VI Part I of the Companies Act, 1956.
I FehT T TANT L T FFIHT SATAFRH, 1956 F ST VI o 91T [ H ST d=qerT

T T It T AT AT WSl IR JHT5Y]

From the following Profit & Loss Account of Dabar Ltd. computer net profit for the

purpose of calculating managerial remuneration :

ST AT e o Warwershiy qTiesifie & Al ohl TUMT ShifT :

Salaries and Wages 10,00,000 Gross Profit b/d 25,50,000
Rent, Rates and Taxes 2,25,000 Bounties and Subsidy
Repairs and Renewals 30,000 received from Govt. 50,000
Miscelaneous expenses 70,000 Profit on Sales of Fixed Assets 40,000
Workmen compensation Premium on Issue of Shares 10,000
including 5,000 legal 13,000 Profit on reissue of Forfeited

Interest on Bank Overdraft 20,000 Shares 5,000
Interest on debentures 30,000
Directors' fees 9,000
Donations 12,500
Depreciation (as per Schedue

XIV) 50,000
Loss on Sale of Investments 12,500

Reserve for Redemption of



Redeemable Preference Shares 75,000

Investment Allowance Reserve 50,000

Provision for Taxation 5,00,000

Net Profit 5,58,000
26,55,000 26,55,000

48.

Fixed Asset costing

95,000 was sold during the year for

1,10,000. Depreciation

allowed on this asset in previous years was 25,000.

95,000 AT hl TR graf T 1,10,000 | forsha foram mam fog @ g™ 25,000 <vmIm S

REN

The following is the Profit and Loss Account of Mundra Advertising Ltd. :
HaeT ugaersieiT fafies 1 amv-aTi @rdr smfctied & ;

To Administrative, selling and By Balance b/d 5,72,350
distribution expenses 8,22,542 By Balance from Trading 40,25,365
a/c
To Donation to charitable By Subsidies received from
funds 25,500 Govt. 2,32,560
To Directors' fees 66,750 By Interest on Investments 15,643
To Interest on debentures 31,240 By Transfer fees 722
To Compensation for breach By Profit on Sale of
of contract 42,530 Machinery :
To Managerial remuneration  2,85,350 Amount realised 55,000
To Depreciation Written down
(as per Schedule XIV) 5,22,543 value 30,000
To Provision for Taxation 12,42,500
To General Reserve 4,00,000
To Investments Rev.Reserve 12,500
To Balance c/d 14,20,185
48,71,640 48,71,640

Additional Information :

Original cost of the machinery sold was 40,000.

You are required to comment on the managerial remuneration in the following
situations:

(a)
(b)

there is only one whole time director;

there are two whole time directors;
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() there are two whole time directors, a part time director and a manager.

H eI ek T -

ST AR s TR €, SHht Het AT 40,000 ®

freferiaa aftRerfo=t & Jereehrr arfsrfies 9 319 foam i -

;3TE T8l shacl Ueh UIhTCN EaTereh gl

e MRS E RIS ok

TG T ol qUhTCl HeITeTsh, Toh SRR HeaTeieh o Ush Sa-ash 2

L & T Ltd. earned a profit of 95,00,000 for the year ending 31st March, 2013. The
balance brought forward from previous year was 2,80,000. The directors transferred
20,00,000 to Development Rebate Reserve and 25,00,000 to Plant Reinstatement
Reserve. They also recommended as follows :

(1) 10,00,000 be transferred to a Special Reserve Fund (to provide for contingencies)
and to pay bonus @ 4% of the profit for the current year to employees;

(i1) To declare a preference share dividend for the year at 8% on preference share
capital amounting to 1,00,00,000; and

(ii1) To declare a final dividend for the year @ 10% on equity share capital amounting
to 1,20,00,000.

The directors had already declared and paid on July 25, 2012 an interim dividend at
5% on equity share capital by opening a separate bank account in the State Bank of
India.

The above recommendations were approved by the shareholders in their annual
general meeting held on 28th June, 2013.

The amount of dividend was deposited in the special bank account in State Bank of
India on 2nd July, 2013 and the cheques for dividend were issued on the same date. A
shareholder, holding equity share capital of 50,000 did not claim the payment of the
cheque of his final dividend up to 31st December, 2013. This amount was transferred to
Unclaimed Dividend Account on 31st December, 2013.

Pass Journal entries to record the above transactions for the years 2012 and 2013 in the
books of the company and prepare Surplus Account for the year ending 31st March,
2013. Assume rate of tax on dividend 16.2225%.

31 |, 2013 1 THTH 99 o g tet o & fafies =1 95,00,000 3T 31( <19 g1 7T
H STAT TR T ATH T 2,80,000 AT HaTewshi 5 20,00,000 forem& &= & 25,00,000
TATE YT EoR) § ST fohdl| 32 ffetiad sreara oft @

(a) 10,00,000 U o=y dey H ;3ATREARATSAT & foIug gEAT=Iia o ST o =re] o o
T o 4 ITTd oh SR RUTIRAT h S-E (63T S|




50.

51.

(b) T U o 8 Ffrer qATTerh 7T o e foar sy

(c) TR I 20 TG hl HHTT 3T Gsft T 10 Sfererer 1 ¢ & s1feqw wmerien fom sy

HeTeTehl § 25 1S, 2012 %1 5 SfcRrd i & W AfaH AT ol I L s AT
3T ¥ forRIy @ Wit L foraml

28 ST, 2013 T ST 6T |HTT @97 H Teh Ik T&dTel witid for|

2 (TS, 2013 T SATHIT A 8 Ueh [oR1Y ST T2 sfeh ST AT § Goraran T o 36t
fo e stferos fa fordl i1 we SieTeR fSeeh 1@ 50,000 3 TTHTRT 377 € 7O @R
1 T 31 fewwer, 2013 7% 781 forn & 36 TR 1 36t fa7 B 7T T TRt @b |
FEATa R feam

T TS AT W hI T 16.2225% T

X Ltd. has declared 10% dividend on equity share capital of 20,00,000 (divided into
shares of 100 each) for the year ending 31st March, 2013 and despatched dividend
warrants on 18th May, 2013 by opening a separate bank account on that day. A person
holding 500 equity shares did not claim the amount of his share of dividend till 31st
March, 2014.

What journal entries will be passed in the books of the company for the despatch of
dividend warrants and transferring the unclaimed amount to Unclaimed Dividend
Account ? What further journal entry will be passed in the books of the company when
the unclaimed amount is deposited by the company in the General Revenue Account of
the Central Government. Assume tax rate on dividend @ 16.2225%.

T feAfiee 4 31 AT, 2013 =1 GHTH &4 aTed 9N o fTT 20,00,000 AT Sfersrel 39T it
;100 ST ST H forTiSiag, X 10% AT Sl SN S § 7 18 |3, 2013 %l ok H Th
AT Gl Wicteht 36T fo arwier iy frifaa forar 81 wer s, e 9/ 500 et
3RT 8, 7 3T TEEe o AT oY TR o1 ST 31 |7, 2014 o +ff T8 Ahm 2)

ST ST T TEdehl H ATWIRT ST o frtwe qer < |t a1 iRy Ay T Wi T e
QTd” H TIHTAT i O AT S AT 81t 2 St ol Taiehi § 36 0 S AT S
faf® gt Sreifeh shroeT T A | T8 37 TR bl el EhR o WA &g @Td” H SH
LT STRATT ? TATHIRT 0L 3T & 16.2225% A1
A Ltd. had a balance of 14,298 in its Profit & Loss Account on April 1, 2012. During
2012-13 its profits before tax amounted to 1,47,500. The income-tax for the year

amounted to 48,300. The company decided to transfer 10,000 to the General Reserve,
15,000 to Sinking Fund for Redemption of Debentures and to pay a dividend for 2012-
2013 at the rate of 10%. The company's share capital consisted of 50,000 shares of 10
each. Draw up the Surplus Account. Assume rate of tax on dividend @ 16.2225%.
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© fafteg o ure 1 313, 2012 1 AT-TH @Td § 14,298 T I 91| a9 2012-13 =T 3T
S A 1,47,500 TN 39 99 1 AR 48,300 o1l HwoAT 7 Fodf foram T 10,000
AT T W36 15,000 )UT9S SMEM shIY @Td § 3 T 30 9 a9 2012-13 & 1T 10%
AT T AW T STQ) et st Frifi oSt 50,000 SfT @ S S 10 AT B
SATTIRT WTAT STST| TSI X 16.2225% L ht & AT

The Articles of Association of Diana Ltd. provide for the following :

AT forfiree o urde stafdadt o famforitad saaemd € -

(1) That 10 per cent of the profits of each year shall be transferred to Reserve
Fund;
(2) That an amount equal to 10 per cent of Equity Dividend shall be set aside for

bonus to staft:

3) That the balance available for distribution shall be applied - (a) in paying 8 per
cent on Cumulative Preference SAhares; (b) in paying 10 per cent on Equity Shares; (c)
Forty per cent of the balance available as additional dividend on Preference Shares and
balance as additional equity dividend.

A further conditon was also imposed by the Articles, viz., that the balance carried
forward shall not be reduced by the provisions under (2) (3b) or (3¢) below a sum equal
to 6% on the perference share capital.

A1 UHH Y o ATHT T 10 TAeTd =T SIS § SEATdd fohaT ST

DE  UH SR U S ATHIET o 10 ST o sSRISR ShH<TET ohl S99 e S

38 Y IAY AT T JeRR SIiel ST - ;37 Hor Yaferehi 33T 0T 8 UfaRTd arissh
SG " 3 WX 10 T ATWIRER &g [T 1 40 faRrd qaifeesr 3w o Afaih
AT T 3T AT SR X SAAE |

HAHIH T ST 0] o TR I TEUEM ;238, 3(b) T 3(c) % T2 A TRT ST AT A
STRAT ST & qaiferenr 3131 GSft o 6 Sierd & 7 7 8l

The company has issued 20,000 8% cumulative participating preference shares of 100

each fully paid up, and 1,50,000 ordinary shares of 10 each fully paid. The profit for the
year ended 31st March, 2013 was 16,00,000 and the balance brought forward from the
previous year, 1,77,666. Profice 90,000 for depreciation and 2,50,000 for taxation
before making other appropriations.

Prepare the Surplus Account. Assume rate of tax on divided @ 16.2225%.

T 7 20,000 8% AR ;Hrll o HeWTilg SRS 100 aTeT & @1 1,50,000 EHIT
ST 10 = At &, Fifera ot @ 81 3 ol oot e 21 31 71+, 2013 1 @ I 67 e
16,00,000 & F TUSct a9 & ST STTC ATH 61 Y 1,77,666 7l T o 11T 90,000 T H h
7T 2,50,000 T ST AT 2| ST WTAT SHTET) WL T & 16.2225% AR



53. Explain different methods of reduction of capital. Give Journal entries in the books of a
company adopting Capital Reduction Scheme.
o 3 el i it it o1 e ot 3 RN <Y A ST el e e
e g # e it i

54.  What is meant by internal reconstruction ? Give conditions when internal reconstruction
becomes desirable ?
AT GAFHIT & T TR & 2 37 TR i TaTgd ST STk QA0 e &
SIS

55. The Balance Sheet of Hero Motors Ltd. as on 31st March, 2014 is a follows :
I Tred fafiee &1 31 7=, 2014 1 fogr i TR 2

Balance Sheet

Liabilities Rs. Assets Rs.
Authorised, Issued and Goodwill 25,000
Subscribed Capital : Fixed Assets 90,000
20,000, 10% Preference Shares Stock in Trade 25,000

of Rs. 5 each fully paid 1,00,000 Debtors 30,000
20,000 Equity Shares of Rs. 5 each Preliminary Expenses 10,000

fully paid 1,00,000 Profit and Loss Account 35,000
Creditors 15,000

2,15,000 2,15,000

The following 'Capital Reduction Scheme's is approved by the Court on April, 2014 :
(1) 10% preference shares of Rs. 5 each be reduced to 10% preference shares of
Rs. 3 each fully paid up.
(i1)Equity shares of Rs. 5 each be reduced to fully paid up shares of Rs. 2.50 each.
(111) Goodwill, Preliminary expenses and debit balance of Profit and Loss
Account be written off completely.
(iv) The balance of the amount be used to write off fixed assets.
Give journal entries and revised balance sheet of the Company.
AT ERT St H Y 2hT Fefcrad A 1 378, 2014 it wftid it St 2 -
(i) 5 %. AT 10% FATERR L0 1 TR 3 & It 0 &« 10% e erepi ST a7
[ERISIE
(if)5 %. e SfoIeT AT ol T 2.50 %. ST uiee Sforaiet 331 a7 faarm STl
(iii) wTfl, TRIFh S QT A= W o Sfefe 9 ! quied § Sraferfiad
IERISIEl
(iv) I T AT ST TR Fraflt = stafetRad s o foram sTa|




S Ifafsar e qerm et 1 aftafda fagr aam fifs)
56. The following is the balance sheet of X Ltd. as at 31st March, 2014.
way fafiies &1 31 A, 2014 i Fogr A JoR ©
Balance Sheet

Rs. Rs.

Share Capital : Buildings 4,50,000
Authorised, Issued & Subscribed: Machinery 8,20,000
6,000 7% Preference Shares of Goodwill 1,20,000

Rs. 100 each 6,00,000  Stock 1,40,000
1,10,000 Equity Shares of Rs. 10 each 11,00,00  Debtors 60,000
17,00,000 Cash at Bank 30,000

Securities Premium 1,50,000  Preliminary Expenses 30,000
Creditors 1,70,000  Advertisement Expenses 20,000
Profit & Loss Account 3,50,000

20,20,000 20,20,000

Note : Dividend on preference shares is in arrears since 1st April, 2011

feoauft ; SAferr Sit ox et et 1 315, 2011 & & <ehm 2 2|

The following scheme of reconstruction was approved :
(1) Preference Shares to be reduced to Rs. 80 each and Equity Shares to Rs. 5 each
fully paid.
(i1)One Rs. 5 equity share to be issued for each Rs. 10 preference share dividend
(gross) in arrears.
(iii) Goodwill, Advertisement Expenses, Profit and Loss Account and
Preliminary expenses are to be written off.
(1v) Machinery to be written off by Rs. 1,30,000.
(v) The authorised share capital is to be restored to its original figure.
Give necessary journal entries and prepare the revised balance sheet.
qAfHTOT 3 FreAfetRad ST wiid 6 7
(i) TSTTRRRT 3211 ShT 80 &. T S{eFaIel ST 3T 5 . Tk ;01 Sa4, HIeT 1T STy
(if)qETTerehTE ST ATWIRT Sl ShTIT ;Hehet, o Tk 10 %, % oA 5 . STl T Shoraet

3igr fifra feram sy
(iii) e, foqm =, a-ar @Tar 99 IRitye St s sufaiaa fea
STy

(iv) AR =T 1,30,000 . & 3farRaa foam sy
(v)SATTa =7 GSIT 2T Jeeht qT TMRT T @ S|



ATITIF S Tfafeat o qem genfid frgr samEy

57. What do you mean by Amalgamation of Companies ? How purchase consideration is
determined for these ?

FHFIT ok TEhISRTUT § 31T T THEIA © 2 Hoh ST=Id shd-Thal shl TUMT fohel SRR ST STl 2

58. Distinguish between 'Amalgamation in the nature of merger' and 'Amalgamation in the
nature of purchase'.

“forerar <t wif o wehleRtor T “oher St Wifdr o TehieRtor # S aWETsy)

59. The X Co. Ltd. and the Y Co. Ltd., whose business are of similar nature, decided to
amalgamate and a new company called the Z Co. Ltd. is formed to take over their
respective assets and liabilities. The following are the respective Balance Sheets :

T HFoH] fAafiee e a8 o faaties, fSiaerT T g SR 8, 3 18 hraHT Sig fdfies
1 QAT FHFITT ol GFafrEl Ud ST ol @i o foTg S| 3Ae gvarfead fog fret s 2
Balance Sheet of X Co. Ltd. as on 31st March, 2014
Liabilities Rs. Assets Rs.

Share Capital : Freehold Premises 40,000

7,500 Shares of Rs. 10 each fully paid 75,000 Plant & Machinery 18,300

Sundry Creditors 3,300 Stock 16,000

Reserve Account 4,000  Sundry Debtors 7,500

Development Reserve 1,000 Cash 1,500
83,300 83,300

Balance Sheet of Y Co. Ltd. as on 31st March, 2014
Liabilities Rs. Assets Rs.

Share Capital : Plant and Machinery 33,450

3,000 Shares of 10 each fully paid 30,000 Stock 11,550

Sundry Creditors 12,000  Sundry Debtors 6,000

Development Reserve 10,000 Cash 1,000
52,000 52,000

Calculate Purchase consideration and draw up Balance Sheet of Z Co. Ltd. Assuming (i)

Amalgamation in the nature of merger, and (i1)) Amalgamation in the nature of purchase.
-SRI6e 1 AT IS qe Sie et fafiee &1 fagt dam ifse g o 3T &6 ()
wehieRT forerar sht Wifer a1 ® 6 3T (i) wehiehtor b shl Wi a1 R




60. Following are the Balance Sheets of two companies R Ltd. and S Ltd. as at 31st March,

2014 :
31 R TR fAfiee e uw fafiee & 31 1, 2014 =i fag fAfaRea €
Liabilities R. Ltd. S. Ltd. Assets R. Ltd. S. Ltd.
Rs. Rs. Rs. Rs.
Share Capital Sundry Assets 22,50,000 13,50,000
(Shares of Rs.100 15,00,000 9,00,00
each)
Reserves 3,00,000 1,65,000
Creditors 4,50,000 2,85,000
22,50,000  13,50,000 22,50,000 13,50,000

R Ltd. is to acquire S Ltd. on the basis of intrinsic value of the shares. The purchase
consideration is to be discharged in the form of fully paid shares, entries to be made at
par value only. A sum of Rs. 60,000 is owed by R Ltd. to S Ltd. Also included in the
stock of R Ltd. is Rs. 90,000 goods supplied by S Ltd. at cost plus 20% . Give Journal
entries in the books of both the companies and prepare Balance Sheet of R Ltd. soon

after acquisition.

AR TS ST T [AHEE 3T ST o ST1h 7o o STUR 9T AR ForaT ST & 563-
Sfciohet ST YITAT quiad SFRIT H o STt @ Uef TfefSat aeeed T Tt 21 60,000 %. 2T Uik
I fefiee g w fofiee ot 2 31 o1 fefiee & &1k § 90,000 . 1 U@ ATet @ftdford @
ST or wer forfiree g AmTa § 20% STTgert S=im T o)

QT AT Sl ekl # SHe Sfafsat ST e stfemrger & g g s AR fafiee &
fergr qam shifs)

61. Ramesh runs a general store. His landlord is interested in acquiring the business. For

this purpose goodwill agreed to be valued at three years' purchase of the weighted
average profit of the past four years. The appropriate rights to be used and profits for
these years were :

THIT Toh SRS TR HTeTd AT 81 HHT SEATHT IHeh AT I W 1 50 ol 36

SIS o e e o1 et fUsel IR au o wiid Sted &1 o i T4 % s fomm
STHT T AT 8| S AT AT $7 81 o e i Jehm 3 -

Year Weight Profits
Rs.

2007-08 1 10,100

2008-09 2 10,400

2009-10 3 12,000
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2010-11 4 15,500

On a scrutiny of the accounts of the following matters are revealed :
(a)On 1st December, 2008 a major repair was made in respect of the plant
incurring Rs. 3,000 which amount was charged to revenue. The said amount is
agreed to be capitalised the goodwill calculation subject to adjustment of
depreciation @ 10% per annum on reducing balance method.
(b) The closing stock for 2008-09 was over-valued by Rs. 1,200.
(c) To cover management cost an annual charge of Rs. 2,400 should be made for
the purpose of goodwill valuation.
Computer the value of goodwill of the business of Ramesh.
oI Sl S 9 e ST o g3 -
R | femwst, 2008 =T TAF o G- | Teh W] HTR o1 Sh1H o T o i
T 3,000 & T TC | TH TR I ATV-BTH @A § =16 o= T o @afd &6
TR A o 1T 36 TIRT 36T SSfiahtoT foham STHT 0 81T &, TAfehdt 3 ShFTd 1418
Hafer & 10 =T STfSeh ol & & Heo {276 T GHIAISH LT 8
AG AN 2008-09 o 7T i~ Wi 1 7o 1,200 . SATeeh ST 717 ol
TG AT 6 Hedih o AT Te-eehia AT o SFee | 2,400 . JTfYeh TR
2l

THIT o SATIR shl EATIT HT He T HITY|

From the following particulars, calculate the value of goodwill by the annuity method

based at three years' purchase of super profit -
(a) Net Assets Rs. 15,00,000.
(b)10% Govt. Securities Rs. 2,00,000.
(c)Net profit of past 3 years Rs. 2,30,000 in 2009; Rs. 1,80,000 in 2010 and Rs.
2,80,000 in 2011.
(d)Profit for 2010 arrived after debiting Rs. 30,000 as loss on sale of asset.
(e) Fair remuneration of owner Rs. 20,000 per annum.

(f) Normal rate of return in similier type of business 12 per cent.

fefefed foawn & wfa it AT SIfremt & 3 aut o s T a1t git & TR |
Fifsre:

(a) 3I( FFIRIT 15,00,000 .1

(b) 10 sifcrere waRR Sferfaat 2,00,000 %1

(©) U=t 3 3t & &1 2009 = 2,30,000 ¥., 2010 = 1,80,000 €. T 2011 = 2,80,000
.

(d) 2010 oS o AT 30,000 . ST Grfe forshe ot 21f o6t 512 & of1e =71 2
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(e) Tt =Rt 3t aTiesrfieR 20,000 %, aTfeR|

) Tt e o T H HHT T <€ 12 Hfeerd 21

Chitra and Meena are partners sharing profits and losses equally. It has been agreed that
if a partner retires, the other partner should be desirous to carry on the business shall pay
to the retiring partner the amount of goodwill to be valued on the basis of 4 years'
purchase of the super profits. The balance sheet of the firm as at 31st March, 2014 was
as follows :

T we HAT Tnw-aT SeR S # sleq g€ WTERR 8 g% awear foRa € foR afy g
HTSHER e B1aT € A1 T WIHGR ST S| i =l 1 $o9e T, (e gu wrgier &
HTYATHI o 4 1 o 563 oh HATUR W EAT(T hT Hed FHRI 31 A, 2014 1 SH 1 (<121 346
T AT -

Balance Sheet

Rs. Rs.

Creditors 1,80,000 Cash in hand 2,60,000
Chinu's Capital 4,40,000 Book Debts 2,00,000
Minu's Capital 3,40,000 Closing Stock 1,20,000

Building 3,80,000
9,60,000 9,60,000

64.

Meena retires on Ist April, 2014 and Chitra decides to carry on the business. The profits
for the last 3 years were Rs. 2,70,000, Rs. 2,90,000 and Rs. 2,80,000 respectively. For
the purpose of dissolution, building has been revalued at Rs. 5,00,000. Partners did not
draw any salary. Assume that fair remuneration is Rs. 1,20,000 per annum; normal rate
of return on capital is 12% and depreciation rate on building 10%. Calculate the value of
goodwill.

| 3T, 2014 =T HHT A6 TSV AT & U T G T FATdT 81 A a9 & AT
ST 2,70,000 ¥., 2,90,000 & TS 2,80,000 %, & FHIGH % I¥F § WA 5,00,000 & T
eTeRd ToRAT T 8| |THERT 5 13 o a1 [Tl 3fard qTiefies 1,20,000 %, ATfess gsit
T EHTT T ohl & 12 WfeRTd e o ot 9o {21 ol &X 10 whawrd w1+ @ & 9o
EIRILEIEAI I

The net assets in a firm amounted to Rs. 2,00,000. Out of this, Rs. 20,000 is represented

by investment in 5% Government Securities, purchased at face value. The expected
future profits is Rs. 30,000. The normal rate of return is 10% on closing capital
employed.

Calculate the value of goodwill by :

(1) (a) There year's purchase of expected profits;



(b)  Five year's purchase of Super Profits.
(i1) Capitalisation of Super Profits;

(111) On the basis of annuity of super profits of 5 years.

T BH I (a1 AT 2,00,000 & o1 F@H @ 20,000 %, fafR=T 5% Wt
sfcrferlt & o, =8 iferd Ao o rdiar T o Wiesy # SR A1 30,000 F. & WH
ST & 3t fafanfera 95 o 10% 2
AT 3T Hed o hifSIY :
@) TG ST ATHT o i ST o 5 oh STTEIR UGH

TG ATIATT o Ui a1 o 5hY o TR TR
(ii) HTYATHI o ISeRTUT o SATUR TR
(iii) 5 a9 o AT 3T AT i ok SATIR T

65. The Balance Sheet of M Ltd. is as follows on 31st March, 2014 :
31 7, 2014 1w s s fagr s@ v 2
Balance Sheet

Liabilities Rs. Assets Rs.
9,000 12% Preference Shares of Fixed Assets 26,00,000
Rs. 100 each 9,00,000 Trade Investments 2,00,000
12,000 Equity Shares of Rs. 100 each Non trade Investment 50,000
fully paid up 12,00,000 Current Assets 16,50,000

General Reserve 6,00,000

10% Debentures 7,00,000

Current Liabilities 11,00,000
45,00,000 45,00,000

Company is earning average profit before tax Rs. 13,00,000. The current tax rate on
company's profit is 40%. The rate of dividend on equity shares of the company is
maintained at 20% for the last years and is expected to be maintained in future also. The
fixed assets may be taken at Rs. 28,00,000. The normal rate of return may be taken at
15%. All investments are earning @ 10% per annum.

Calculate the value of equity share on (i) dividend yield basis; (ii) expected rate of

return on equity share capital basis; and (ii1) actual rate of return basis.

PO S W Qe ST AT 13,00,000 . HHT T&T 81 SHFIT o AT T 3hT SaH &L 40%
1 77 % a1 H SRl ST I AT A T 20% T HTAT T & S T off 5 @ oy S Aem
2| Tl TRt 1 qed 28,00,000 . AT S| SR @ & 15% W St ST Hehd! 2
aeft TR ox Ty 10% afies &1 & 2



ST R AT TS (i) ATWIRT ST o TR 90 (if) $ieraret 37T Uit o SenRid Seam %
TR GH AT (iii) AT T & o TR U T STy

66. The fair value of equity share is Rs. 113.50 and yield value is Rs. 120. Find out the
intrinsic value of share and net assets, if 50,000 equity shares of Rs. 10 each issued by
the company.

Sforel 3731 o1 Sferd HeT 113.50 %, TS it AT 120 . 81 321 b1 =i qod To T
Feqfar 1d HINT Al O T 10 %, 3T 50,000 $hrt 3w Frifia o =il

67. On 31st March, 2011 the Balance Sheet of X Ltd. disclosed the following position of the
company :

31 |7, 2011 o1 uay fafies o1 fergr svrat i fmaferfaa feafa st gehe sar o
Balance Sheet as on 31st March, 2011
Liabilities Rs. Assets Rs.

10,000 Equity Shares of Rs. 100 Land & Buildings 4,40,000
each fully paid 10,00,000 Plant & Machinery 1,90,000

Profit & Loss Account 3,56,000 Stock in Trade 7,00,000

Band overdraft 40,000  Sundry Debtors 3,10,000

Sundry Creditors 1,54,000

Provision for Taxation 90,000

16.40,000 16,40,000

The net profits of the company, after providing for depreciation and taxation were as
follows :

2006-07 — Rs. 1,70,000; 2007-08 — Rs, 1,92,000; 2008-09 —Rs. 1,80,000; 2009-10
Rs.2,00,000 and 2010-11 —Rs. 1,90,000.

On 31st March, 2011 Land and Buildings were valued at Rs. 5,00,000 and Plant &
Machinery at Rs. 3,00,000.

In view of the nature of business, 10% on closing capital employed is considered a
reasonable return in this company.

Find out the value of equity share on net assets basis. The goodwill may be taken at
five years' purchase of the super-profits.

T BTE 3R L o 18 STRISH 3 % 18, P9l o JI( A 36 TR 9 : 2005-06 -
1,70,000 ®3& 2007-08 - 1,92,000 3 2008-09 - 1,80,000 *.3& 2009-10 - 2,00,000 &.5%
2010-11 - 1,90,000 %.1

31 |, 2011 1 90 o WaH T HeAishT 5,00,000 F. T i o AT T oAl
3,00,000 . 9 fapam M =maw st wifd i s@d ge st i ISt o 10% 39 FFt
T 3t e w2
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69.

70.

71.

i< 9T ok 3 o SR 9L TR ST TehaT 2
Mr. Tanu intend to invest Rs. 1,00,000 in equity shares of a limited company and seeks
your advice as to the maximum number of shares he can expect to acquire based on a

fair value of the shares to be determined by you. The following information is available:

Issued and paid up capital : Rs. Rs.
10% preference shares of Rs. 100 each 8,50,000
Equity shares of Rs. 10 each 6,50,000 15,00,000

Net profit of the business is Rs. 1,60,000. Expected normal yield is 10% in case of such
equity shares. It is observed that the net assets after revaluation are worth Rs. 80,000
more than the amounts at which they are stated in the books. Goodwill is to be

calculated at 5 year's purchases of the super profits, if any.

fir. a7 u fifrq et % et mmarg Sf A 1,00,000 . ffRAST Fr @@ €, w
HOH T WiTd © T e g Muif@ i % SR qew % AUR W g fhd
el oW 33T Tia 3h STTRT L e &l TR o UTeH & ;

[EUIECRCRCERCIE %, %,
10% 100 %. 9Tt qaiferei 3331 8,50,000
10 %. 3Tt Sforet 3 6,50,000 15,00,000

SIEE o (A 1,60,000 F. &l UH glaerdl S hT G H SARM e T TATT 3hT &
10% 1 3 97 T & fo 3 weafrl &1 9o O o o 918 e 4ol € 80,000 ¥
AT B AT Sl TUMHT SIEATHT ;IS IS BTG o 5 TN o 3h o ST W FHAT 2

(a) Explain clearly what is meant by Preferential Creditors?

(b)What do you understand by Liquidator's Final Statement of Account ? When

and how is it prepared ?

TG AR MG § ST T SHEd & 2 SI5daT GHEsy

g s o 31feaw feamer o foemor & 319 . omerd § 2 I8 o 3T 8 dIR

IERIEIGIER:

Define the term 'Contributory'. What persons may be made liable as contributories ?

What is the nature of their liability as present and past members ? Illustrate your answer
by given a suitable example.

“eFETar I16g hl IR Y| eFgETaTetl % ®9 ¥ ST ¥ ARk STEHET 380 3T Wohd § 2
JAHH qAT TS HERAT o &Y H e MMcdl ol 1 Fifd 8 2 Toh IR T S 370
I ! T IR

X Ltd. went into voluntary liquidation on 1st April, 2005. The following was the

position of the company on 31st March, 2005.
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T fAfHeE 1 319, 2014 i U THOH § =eft T51 31 /M= 2014 1 HroT T Rafd
ey ot

Cash on realisation of assets Rs. 10,00,000; Expenses of Liquidation Rs. 18,000;
Unsecured creditors (including salaries and wages for one month prior to liquidation Rs.
12,000) Rs. 1,36,000; 10,000 6% Preference Shares of Rs. 30 each (dividend paid up to
31st March, 2013) Rs. 3,00,000; 20,000 Equity Shares of Rs. 10 each Rs. 9 per share
called and paid up Rs. 1,80,000; General Reserve Rs. 2,40,000; and Profit & Loss
Account Rs. 20,000.

Under the articles of association of the company, the preference shareholders have the
right to receive one-third of the surplus remaining after repaying the equity share
capital. Prepare the liquidator's Final Statement of Account. The liquidator is entitled to
3% on realisation of assets and 2% on distribution to shareholders.
VT o TG =T o S, YaiTerehR SFRILTRET shi 36 STfeer i Th-fdeTs Wit e
A I AHR 2, ST ok gfarardt ST YSft o GATAE o 18 s=rdm 81 e 1 HAf<aw
feaa-foraror sAmsy) fraares it avafe il sEel T 3% a0 ST i o | 2%
aTfLATieR T S ST SRR 2

The liquidator of a company finds that the claims of certain creditors had remained

unsatisfied. He also notes that certain members had transferred their shares well before
the date of liquidation. The position as regards to those members is as follows :

Teh FHFOT o e 1 98 TG 21T & 96 %@ TR o Q6 T TaM 1 5ot 21 3¢ e oft
T BIeT & 1o 5 Hawal § GHTIH AT foifer o qel g1 311 ohi Sear=aia o [odT 81 3 Jesll &
Traf-ea Rufa frfafad R e -

Amount of Creditors

Name of Person  Date of Transfer of =~ No. of Shares outstanding on the
Shares transferred date of transfer still
unpaid

Alst January, 2013 120 2,000

Blst April, 2013 200 3,000

C10th September, 2013 100 3,600
D18th November, 2013 80 5,000

E25th December,2013 20 5,200

All these shares are of Rs. 100 each, Rs. 80 paid up. The company went into voluntary
liquidation on 1st March, 2014. Prepare a statement of the amount receivable from any

or all of the above persons.



Z @t ST 100 & 9 3731 o fGOTe § 8 T 3 W 80 & Jad 7l HFEHAT 1 A, 2014 I
Ufoesh T | el 75| Ul W o foRdT Tk AT g SAfRal | et A TR T Hd
R CERREE KB I



